
4'-10

B1
HSS12X10X12/

1'
-0

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/04/2021

08/10/2021
JOB NO:

SHEET NO:
B1

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

BEAM

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B1 2

B1 2 HSS12X10X1/2 4'-10" 625 A500-GR.C

SQ-2BEAMS

TOTAL WEIGHT THIS DRAWING 625

2 - BEAMS - B1

Te
kl

a 
st

ru
ct

ur
es



10

B2
HSS10X3X14/

4'-10

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/04/2021

08/10/2021
JOB NO:

SHEET NO:
B2

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

BEAM

2.5 MILS DFT

Te
kl

a 
st

ru
ct

ur
es

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B2 9

B2 9 HSS10X3X1/4 4'-10" 844 A500-GR.C

SQ-2BEAMS

TOTAL WEIGHT THIS DRAWING 844

9 - BEAMS - B2



10

B7
HSS10X3X14/

5'-458/

B7

3

158/

638/

28
°

12

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/04/2021

08/10/2021
JOB NO:

SHEET NO:
B7

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

BEAM

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B7 1

B7 1 HSS10X3X1/4 5'-4 5/8" 104 A500-GR.C

SQ-1/BEV-1BEAM

TOTAL WEIGHT THIS DRAWING 104

ONE - BEAM - B7

Te
kl

a 
st

ru
ct

ur
es



B8
HSS10X3X14/

4'-612/

10
3

B8
158/

638/

28
°

12

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/04/2021

08/10/2021
JOB NO:

SHEET NO:
B8

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

BEAM

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B8 1

B8 1 HSS10X3X1/4 4'-6 1/2" 88 A500-GR.C

SQ-1/BEV-1BEAM

TOTAL WEIGHT THIS DRAWING 88

ONE - BEAM - B8

Te
kl

a 
st

ru
ct

ur
es



10

3'-8716/

B9
HSS10X3X14/

158/
B9

3

638/

28
°

12

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/04/2021

08/10/2021
JOB NO:

SHEET NO:
B9

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

BEAM

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B9 1

B9 1 HSS10X3X1/4 3'-8 7/16" 72 A500-GR.C

SQ-1/BEV-1BEAM

TOTAL WEIGHT THIS DRAWING 72

ONE - BEAM - B9

Te
kl

a 
st

ru
ct

ur
es



DP1
PL14/ "X63 1316/

5'-958/

5'
-3

13
16/

1178/

61
16/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
DP1

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

NO PAINT

DECK PLATE

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

DP1 1

DP1 1 PL1/4"X63 13/16" 5'-9 5/8" 310 NO PAINT A36

SQ-2DECK PLATE

TOTAL WEIGHT THIS DRAWING 310

ONE - DECK PLATE - DP1

Te
kl

a 
st

ru
ct

ur
es



DP2
PL14/ "X63 1316/

61
16/

5'-1058/

5'
-3

13
16/

1'-078/

Te
kl

a 
st

ru
ct

ur
es

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
DP2

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

NO PAINT

DECK PLATE

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

DP2 1

DP2 1 PL1/4"X63 13/16" 5'-10 5/8" 314 NO PAINT A36

SQ-2DECK PLATE

TOTAL WEIGHT THIS DRAWING 314

ONE - DECK PLATE - DP2



DP3
PL14/ "X63 116/

2'
-1

11
5 16/

2'
-3

1 8/

5'
-3

1 16/

1'-718/

55
16/

7'-101316/

21316/

4'-3

3'-5

3'-71316/

1228
°

638/

12

28° 63
8/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
DP3

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

NO PAINT

DECK PLATE

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

DP3 1

DP3 1 PL1/4"X63 1/16" 7'-10 13/16" 335 NO PAINT A36

SQ-1/BEV-1DECK PLATE

TOTAL WEIGHT THIS DRAWING 335

ONE - DECK PLATE - DP3

Te
kl

a 
st

ru
ct

ur
es



DP4
PL14/ "X63 1316/

6'-858/

5'
-3

13
16/

1'-1078/

61
16/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
DP4

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

NO PAINT

DECK PLATE

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

DP4 1

DP4 1 PL1/4"X63 13/16" 6'-8 5/8" 355 NO PAINT A36

SQ-2DECK PLATE

TOTAL WEIGHT THIS DRAWING 355

ONE - DECK PLATE - DP4

Te
kl

a 
st

ru
ct

ur
es



DP5
PL14/ "X25 916/

4'-0
2'

-1
9 16/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
DP5

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

NO PAINT

DECK PLATE

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

DP5 1

DP5 1 PL1/4"X25 9/16" 4'-0" 43 NO PAINT A36

SQ-1/BEV-1DECK PLATE

TOTAL WEIGHT THIS DRAWING 43

ONE - DECK PLATE - DP5

Te
kl

a 
st

ru
ct

ur
es



br2

1'-6

TYP

2'-7 9
16/

R
 1

1 4/

13
16/

13
16/

1'-0

br2

1316/

4'-6

p47

3- br1

HR1
PIPE1-14/ STD

A

A

16'-1038/

1316/ 11'-038/

1'-2

4'-6

6'
-7

7 16/

1316/

6'
-5

3 4/

101516/14/

12

30.44°

71
16/

12'-9 9
16/

3'-8516/6

5'-8516/

13
16/

br2 br2 3- br1
18/

TYP HR1

p47

89
16/

13
16/

67
8/

3
31

3 16/

R 1 1
4/

13
16/ 37

8/

1'-0

1316/101516/14/

A - A

238/

HANDRAIL BRACKET

HANDRAIL
PIPE1-14/ STD LAMINATED GLASS

12/ " CLEAR TEMPERED 
CLR

12/3316/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR1

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR1 1

HR1 1 PIPE1-1/4STD 20'-1 1/16" 43 #6 SATIN FINISH S.S.

SQ-1/BEV-1HANDRAIL

br1 3 CRL HR2JGBS 4 S.S.BOI

br2 2 CRL HR2JGBS 3 S.S.BOI

p47 1 PL1/4"X1 3/8" 0'-1 3/8" 0 S.S.

TOTAL WEIGHT THIS DRAWING 50

ONE - HANDRAIL - HR1

Te
kl

a 
st

ru
ct

ur
es



13
16/

A

A

1'-3316/

p47

101516/

br4

3- br3

HR2
PIPE1-14/ STD

TYP

6'
-7

7 16/

12'-514/

13
16/

6'
-5

3 4/

9

R
 1 1

4/

12'-9
9 16/

12
30.44°

71
16/

1316/11'-038/1316/

2'-7
9 16/

4'-6

14/

4'-6

1'-2

1'-0

1316/

br4

14/

HR2

3- br3
p47 18/

TYP

93
16/

1'-0

83
8/

13
16/

13
16/

89
16/ 37

8/

R 1 1
4/

67
8/

13
16/

101516/1316/

A - A
HANDRAIL BRACKET

HANDRAIL
PIPE1-14/ STD

3316/

LAMINATED GLASS
12/ " CLEAR TEMPERED 

CLR

12/

238/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR2

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR2 1

HR2 1 PIPE1-1/4STD 16'-1 5/16" 35 #6 SATIN FINISH S.S.

SQ-2HANDRAIL

br3 3 CRL HR2JGBS 4 S.S.BOI

br4 1 CRL HR2JGBS 1 S.S.BOI

p47 1 PL1/4"X1 3/8" 0'-1 3/8" 0 S.S.

TOTAL WEIGHT THIS DRAWING 40

ONE - HANDRAIL - HR2

Te
kl

a 
st

ru
ct

ur
es



10716/

9'-878/

br2

HR3
PIPE1-14/ STD

A

A

br2 br2

TYP

10716/4'-04'-0

3316/

A - A

HANDRAIL
PIPE1-14/ STD

HANDRAIL BRACKET

CLR

LAMINATED GLASS
12/ " CLEAR TEMPERED 

12/

238/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR3

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR3 1

HR3 1 PIPE1-1/4STD 9'-8 7/8" 21 #6 SATIN FINISH S.S.

SQ-2HANDRAIL

br2 3 CRL HR2JGBS 4 S.S.BOI

TOTAL WEIGHT THIS DRAWING 25

ONE - HANDRAIL - HR3

Te
kl

a 
st

ru
ct

ur
es



br1 br4

13
16/

TYP

21
1 16/

br4

br4p47 18/ br1

HR4

br1

3

br1
1 4/

13
16/

R 1
1 4/

37
8/

33
4/

31
3 16/

A - A

HANDRAIL
PIPE1-14/ STD

HANDRAIL BRACKET

LAMINATED GLASS
12/ " CLEAR TEMPERED

CLR

12/3316/

238/

6

br1

19'-238/

HR4
PIPE1-14/ STD

3'-0

1'-41516/

TY
P

p47

br4

br1

br1

7'
-6

7 16/

br1

7'
-8

1 8/

br4 br4

A

A

1316/

TYP

51316/

R
 1

1 4/

12

30.44°

71
16/

13
16/

4'-91316/12'-10

3@4'-0=12'-0

1316/

13
16/

6

2'-4 5
8/

14'-10 9
16/

1'-31316/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR4

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

Te
kl

a 
st

ru
ct

ur
es

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR4 1

HR4 1 PIPE1-1/4STD 21'-5 15/16" 46 #6 SATIN FINISH S.S.

BEV-2HANDRAIL

br1 4 CRL HR2JGBS 6 S.S.BOI

br4 3 CRL HR2JGBS 4 S.S.BOI

p47 1 PL1/4"X1 3/8" 0'-1 3/8" 0 S.S.

TOTAL WEIGHT THIS DRAWING 56

ONE - HANDRAIL - HR4



br2

HR5

4- br3TYP

93
16/

93
16/ 83
8/

13
16/

83
8/

13
16/

R 1
1 4/

37
8/

A - A

LAMINATED GLASS
12/ " CLEAR TEMPERED 

HANDRAIL BRACKET

HANDRAIL
PIPE1-14/ STD

CLR

12/3316/

238/

HR5
PIPE1-14/ STD

TYP

2'-4
5 8/

br2

4- br3 A

A

13
16/

TYP

458/

R
 1 1

4/

12
30.44°

71
16/

15'-0916/

1316/1'-8316/

14'-109 16/

13'-21116/1316/

13
16/

7'
-8

1 8/

7'
-6

7 16/

3@4'-0=12'-0

6

9116/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR5

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR5 1

HR5 1 PIPE1-1/4STD 18'-3 1/8" 39 #6 SATIN FINISH S.S.

BEV-2HANDRAIL

br2 1 CRL HR2JGBS 1 S.S.BOI

br3 4 CRL HR2JGBS 6 S.S.BOI

TOTAL WEIGHT THIS DRAWING 46

ONE - HANDRAIL - HR5

Te
kl

a 
st

ru
ct

ur
es



13
16/

4- br3
TYP

83
8/

br4

HR6

R 1
1 4/ 37

8/

93
16/ 83
8/

13
16/

93
16/

HANDRAIL BRACKET

12/

A - A

238/HANDRAIL
PIPE1-14/ STD

LAMINATED GLASS
12/ " CLEAR TEMPERED CLR

3316/

7'
-1

11
16/

1316/

TYP br4

4- br3

HR6
PIPE1-14/ STD

12
30.44°

71
16/

A

A

TYP

15'-0916/

1316/2'-2316/11'-11958/

R
 1 1

4/

7'
-0

2'-1
7 8/

3@3'-9=11'-3

5

13'-9
13 16/

13
16/

13
16/

9

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR6

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR6 1

HR6 1 PIPE1-1/4STD 18'-1 3/8" 39 #6 SATIN FINISH S.S.

SQ-2HANDRAIL

br3 4 CRL HR2JGBS 6 S.S.BOI

br4 1 CRL HR2JGBS 1 S.S.BOI

TOTAL WEIGHT THIS DRAWING 46

ONE - HANDRAIL - HR6

Te
kl

a 
st

ru
ct

ur
es



13
16/

p47br2

TYP

18/br2

3

4- br1

31
3 16/

13
16/ 1 4/ 21

1 16/

R 1 1
4/

37
8/

33
4/

HANDRAIL BRACKET

A - A

3316/

238/

HANDRAIL
PIPE1-14/ STD LAMINATED GLASS

12/ " CLEAR TEMPERED 
CLR

12/

1316/

4'-0

13
16/

TY
P

HR7
PIPE1-14/ STD

p47

br2

638/

br2

4- br1

A

A

TYP

12

30.44°

71
16/

R
 1

1 4/

7'
-1

11
16/

13'-9 13
16/

5

3@3'-9=11'-3

2'-1 7
8/

7'
-0

13
16/

19'-238/

1316/11'-116'-7516/

2'-1516/6

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR7

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR7 1

HR7 1 PIPE1-1/4STD 21'-4 3/16" 46 #6 SATIN FINISH S.S.

SQ-2HANDRAIL

br1 4 CRL HR2JGBS 6 S.S.BOI

br2 2 CRL HR2JGBS 3 S.S.BOI

p47 1 PL1/4"X1 3/8" 0'-1 3/8" 0 S.S.

TOTAL WEIGHT THIS DRAWING 54

ONE - HANDRAIL - HR7

Te
kl

a 
st

ru
ct

ur
es



TYP

br2br2

51116/

HR8
PIPE1-14/ STD

br2

A

A

7'-101116/

53'-63'-6

A - A

HANDRAIL
PIPE1-14/ STD

LAMINATED GLASS
12/ " CLEAR TEMPERED 

HANDRAIL BRACKET

238/

12/

CLR

3316/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR8

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR8 1

HR8 1 PIPE1-1/4STD 7'-10 11/16" 17 #6 SATIN FINISH S.S.

SQ-2HANDRAIL

br2 3 CRL HR2JGBS 4 S.S.BOI

TOTAL WEIGHT THIS DRAWING 21

ONE - HANDRAIL - HR8

Te
kl

a 
st

ru
ct

ur
es



R 
11

4/ p47

13
16/

TY
P

18/

br2br2 HR9

4- br3

7 3
8/

638/

28° 12

21
1 16/

37
8/

33
4/

1 4/

A - A

238/
HANDRAIL
PIPE1-14/ STD

3316/

HANDRAIL BRACKET

LAMINATED GLASS
12/ " CLEAR TEMPERED 

CLR

12/

2'-2
7 8/

p47

13
16/

1316/

HR9
PIPE1-14/ STD

11'-11

br2

TYP

br2

4- br3 A

A

15'-101316/

7'
-1

11
16/

12
30.44°

71
16/

TYP

5

R
 1 1

4/

7'
-0 3@3'-9=11'-3

4

13'-9
13 16/

101516/2'-11516/34/

13
16/

2'-11316/

Te
kl

a 
st

ru
ct

ur
es

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR9

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR9 1

HR9 1 PIPE1-1/4STD 18'-2" 39 #6 SATIN FINISH S.S.

SQ-1/BEV-1HANDRAIL

br2 2 CRL HR2JGBS 3 S.S.BOI

br3 4 CRL HR2JGBS 6 S.S.BOI

p47 1 PL1/4"X1 3/8" 0'-1 3/8" 0 S.S.

TOTAL WEIGHT THIS DRAWING 48

ONE - HANDRAIL - HR9



TY
P

18/
p47

br4

br4

R 
11

4/

br44- br1

37
8/

HR10

1 4/21
1 16/

3

13
16/

33
4/

638/

12

238/

A - A

HANDRAIL
PIPE1-14/ STD

HANDRAIL BRACKET

LAMINATED GLASS
12/ " CLEAR TEMPERED CLR

12/3316/

13'-9 7
8/

p47

HR10
PIPE1-14/ STD

3'-0

11'-11

R
 1

1 4/
TY

P

br4

3@3'-9=11'-3

br4 br4

4- br1

A

A

TYP

5

12

30.44°

71
16/

4

2'-2 7
8/ 13

16/
7'

-0

2'-0

13
16/

7'
-1

11
16/

18'-438/

5'-558/101516/1316/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
HR10

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

#6 SATIN FINISH

HANDRAIL

2.5 MILS DFT

Te
kl

a 
st

ru
ct

ur
es

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

HR10 1

HR10 1 PIPE1-1/4STD 20'-5 9/16" 44 #6 SATIN FINISH S.S.

SQ-2HANDRAIL

br1 4 CRL HR2JGBS 6 S.S.BOI

br4 3 CRL HR2JGBS 4 S.S.BOI

p47 1 PL1/4"X1 3/8" 0'-1 3/8" 0 S.S.

TOTAL WEIGHT THIS DRAWING 54

ONE - HANDRAIL - HR10



p32

p7
3

A - A

p73

p14 (B/S)

10@1'-0 3
4/ =10'-7 9

16/

NO
SI

NG

p3 (B/S)

p72

p5

14/
3 SIDES 
p3

a10

p60

11'-11 1
2/

tr7 a10

p73

3 1
4/

p31

p69

tr4

10- tr2

p7

934/

p60

75
8/

SIM.

p59
p58

D

D

p35

p69

p41

p9

p68

p59

TYP

p72

p1
4

D

D

11'-5

10'-334/1'-114/

410@11=9'-2114/

11'-61

112/

12/12/

7'
-2

9 16/

314/

15
.1

9°

12

11
@

67
16/

=5
'-1

11
16/

1'
-1

7 16/

1'
-1

7 8/

33
16/

31
1 16/

41
16/

18.81°

12

1'-0 11
16/

1 3
16/

12

30.44°

71
16/

1'
-4

12/112/

23
8/

2

p73

SIM.

p15

B - B

p72

(TYP)

p68

p73

p15 p18

TYP

NO
SI

NG

16'-412/

p22
p1

4

33
16/

ST1PL12/ "X16

D

D

p14 (B/S)

1

112/

10- tr2

a12

14/
3 SIDES 
p3

p69

p26 a8 tr7

p72

p7

p69

tr4

p3 (B/S)

DET. A

p7
3

p26

p22

D

D

a7a7

10'-334/6'-034/

4114/

1 3
16/

10@11=9'-2934/

21'-434/1'-71'-71

11'-6

1'
-1

7 8/

1

12/12/

41
16/

18.81°

12

7'
-2

9 16/

11
@

67
16/

=5
'-1

11
16/

1'
-1

7 16/

31
1 16/

1'
-4 11'-11 1

2/10@1'-0 3
4/ =10'-7 9

16/

3 1
4/

1'-0 11
16/

314/

15
.1

9°

12

23
8/

75
8/

12

30.44°

71
16/

2

STAIR UPtr7

316/
316/

a12

p18 p69

a7

p1481
2/

11'-5

16'-3

p3

a8

p22

10- tr2
tr4

a7

p26 p15 p14

p14

ST1
PL12/ "X16 p7

12/
p3

p14

p41 p69p7

p3

112/

p3

11'-312/

p68p32

p60

p59

a10
p9

p31

3

p58
p5

p35

A A

B B

C C

p5

p3
5

p3
1

p5
8

p72

16'-412/

12/1

5'
-4

4'
-1

0
IN

SI
D

E 
ST

R
IN

G
ER

3

1 2/
11

1

1

8

p35

C - C

10

p5 14/
14/

1

2

p31

p58

14/
14/

12/112/

3
2

p18

D - D

14/ 12
14/ 12

ENDS
TYP p22

11
3 4/

p26

p15

14/ 2"@12
14/ 2"@12

BETWEEN
TYP

316/
316/

2
12/112/

3
11

4/

5

DETAIL- A

1'-0 3
4/TYP

67
16/

TY
P

1'-0 3
4/TYP

14/
TREAD PAN TO

STRINGER (TYP)

NO
SI

NG

TREAD PAN
PL14/ "X18 38/

23
8/

STAIR
PL12/ "X16

11
TYP

11
TYP

67
16/

TY
P

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

ST1 1

ST1 1 PL1/2"X16" 11'-11 1/2" 305 A36

BEV-2STAIR

a7 2 L2X2X1/4 1'-3" 8 A36

a8 1 L2X2X1/4 1'-0 3/4" 3 A36

a10 1 L2X2X1/4 0'-9 1/4" 2 A36

a12 1 L2X2X1/4 1'-2" 4 A36

p3 4 PL1"X7" 1'-6" 143 A36

p5 1 PL1/2"X5" 0'-11" 8 A36

p7 2 PL1/2"X16" 11'-11 1/2" 610 A36

p9 1 PL1/2"X13 1/4" 1'-4" 23 A36

p14 4 PL1/2"X13 7/8" 1'-8" 119 A36

p15 1 PL1/2"X16" 5'-11 1/4" 157 A36

p18 1 PL1/2"X16" 6'-0 3/4" 160 A36

p22 1 PL1"X1" 5'-7 3/4" 19 A36

p26 1 PL1"X1" 5'-10 15/16" 20 A36

p31 1 PL1/2"X8" 1'-4" 18 A36

p32 1 PL1/2"X11 3/4" 1'-4" 22 A36

p35 1 PL1 1/2"X10" 1'-2" 60 A36

p41 1 PL1/2"X16" 11'-11 1/2" 305 A36

p58 1 PL1"X1" 0'-10" 3 A36

p59 1 PL1"X1" 0'-10 15/16" 3 A36

p60 1 PL1"X1" 0'-7 3/4" 2 A36

p68 2 PL1"X1" 10'-6 11/16" 72 A36

p69 2 PL1"X1" 11'-11 7/8" 81 A36

p72 2 PL1"X1" 0'-10 11/16" 6 A36

p73 2 PL1"X1" 0'-7 5/8" 4 A36

tr2 10 PL1/4"X18 3/8" 4'-10" 754 A36

tr4 1 PL1/4"X17 5/8" 4'-10" 72 A36

tr7 1 PL1/4"X6 3/16" 4'-10" 26 A36

TOTAL WEIGHT THIS DRAWING 3009

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ONE - STAIR - ST1

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/05/2021

08/10/2021
JOB NO:

SHEET NO:
ST1

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

STAIR

2.5 MILS DFT

Te
kl

a 
st

ru
ct

ur
es



p24

p17
ST2
PL12/ "X16 p24 a1 a2

A

A

TYP

1'
-4

11'-0

3
11

3 4/

5

112/

1

ST2

2

1

12/

p17

2 a1 4'-7a2

p24

4

1

5'-10

12/1

p17

A - A

14/ 2"@12
14/ 2"@12

BETWEEN 
(TYP)

12/ 1

ST2

p24
316/ 2"@12
316/ 2"@12

p24

14/ 12
14/ 12

ENDS
(TYP)

11
4/

2
5

12/

3
11

3 4/

Te
kl

a 
st

ru
ct

ur
es

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
ST2

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

STRINGER

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

ST2 1

ST2 1 PL1/2"X16" 11'-0" 299 A36

SQ-2STRINGER

a1 1 L2X2X1/4 4'-9" 15 A36

a2 1 L2X2X1/4 4'-9" 15 A36

p17 1 PL1/2"X16" 10'-9" 293 A36

p24 2 PL1"X1" 10'-11" 74 A36

TOTAL WEIGHT THIS DRAWING 697

ONE - STRINGER - ST2



A - A

p27

7'
-8

7 16/

tr1

p49

12 - tr2

5'-114/

1316/

TYP

11

tr5

tr5

12

30.44°

71
16/

p19

19'-512/

p71

p45

a7 a7a13

p12

p48

5

p70

NOSING

ST3
PL1 2/ "X16

p43 (B/S)

C

C

tr5

SIM.

C

C

a9

7 16/ 1'-0
5 16/

12

15.19°

314/

9'
-0

7 16/

47
16/

4

1'-7 1'-72 1'-6

12

30.44°

7116/2 3
8/

1'
-4

13
@

67
16/

=7
'-0

11'-11716/

1

1

3

12@1'-0
3 4/ =12'-9

1 16/

1'-0
13 16/

13'-103 8/

2'-41316/

12@11=11'-01'-014/

p45p27

p19

p6

a7
p12

p12

14'-6

B B

a13 a7

p43

12 - tr2

p43

A A
ST3
PL12/ "X16

tr5

p42

p49

p71

tr1

p43

p43p70p71

p70p62

a11

a9

STAIR UP

p45

19'-512/

112/

2
4'

-1
0

IN
SI

D
E 

ST
AI

R
2

5'
-2

TYP

SIM.

a11

B - B

11 - tr2

p62 p702

DET. A

1'-014/

NOSING

p43 (B/S)

p12 (B/S)

p6

tr1

(TYP)

12@11=11'-0

tr5

p71

12@1'-0
3 4/ =12'-9

1 16/

C

C

p45

7 16/

14'-6

1316/

2 3
8/

p61

14/

tr5

tr5

a1
1

p6
2

a11

12

30.44°

71
16/

11

1'-0
5 16/

12

15.19°

314/

12

30.44°

7116/

1'-0
13 16/

13'-105 16/

4
13

@
67

16/
=7

'-0
1'

-8
7 16/

7'
-8

7 16/
1'

-4

9'
-0

7 16/

2'-41316/11'-11716/134/

3

C - C

a7

p19

p49

2

p48

p27

14/ 2"@12
14/ 2"@12

BETWEEN 
(TYP)

14/ 12
14/ 12

ENDS 
(TYP)

316/
316/

12/1

1'
-4

12/

3
11

3 4/
11

4/

5

DETAIL- A

STRINGER
PL12/ "X16

TREAD PAN
PL14/ "X18 38/

11
TYP

NOSING

18/
TREAD PAN TO 
STRINGER (TYP)

1'-0
3 4/

TYP

1'-0
3 4/

TYP

11
TYP

67
16/

TY
P

67
16/

TY
P

2 3
8/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

ST3 1

ST3 1 PL1/2"X16" 14'-2 11/16" 382 A36

SQ-1/BEV-1STAIR

a7 2 L2X2X1/4 1'-3" 8 A36

a9 1 L2X2X1/4 1'-3 1/4" 4 A36

a11 1 L2X2X1/4 0'-11 3/4" 3 A36

a13 1 L2X2X1/4 1'-2" 4 A36

p6 1 PL1/2"X6 1/16" 1'-4" 7 A36

p12 2 PL1/2"X16" 14'-2 11/16" 765 A36

p19 1 PL1/2"X16" 5'-4 1/16" 140 A36

p27 1 PL1/2"X16" 5'-5 9/16" 144 A36

p42 1 PL1/2"X16" 14'-6 5/8" 388 A36

p43 4 PL1/2"X22" 2'-4 13/16" 149 A36

p45 2 PL1"X1" 1'-9 1/16" 12 A36

p48 1 PL1"X1" 5'-4 1/2" 18 A36

p49 1 PL1"X1" 5'-1 5/16" 17 A36

p61 1 PL1"X1" 0'-4 1/2" 1 A36

p62 1 PL1"X1" 0'-2 5/16" 1 A36

p70 2 PL1"X1" 14'-3" 97 A36

p71 2 PL1"X1" 15'-0 1/2" 102 A36

tr1 1 PL1/4"X22 5/8" 4'-10" 93 A36

tr2 12 PL1/4"X18 3/8" 4'-10" 905 A36

tr5 1 PL1/4"X6 3/4" 4'-10" 28 A36

TOTAL WEIGHT THIS DRAWING 3267

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ONE - STAIR - ST3

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
ST3

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

STAIR

2.5 MILS DFT

Te
kl

a 
st

ru
ct

ur
es



A - A

p63

tr6

P64

p16 (B/S)

p34

2'
-0

7 16/

TYP

p64

1'-912/

p52

23
8/

p13 (B/S)

tr6

NO
SI

NG

p33p10

p35

tr7p8 a15

a15

D

D

p76

p53

11 - tr2

p75

DET. A
(TYP)

p76

tr3

tr3

SIM.

14'-6

10'-814/2'-014/

1'-711@11=10'-1934/

114/

8'
-8

6'
-1

0
1'

-1
0

2
12

@
67

16/
=6

'-5
9 16/

51
1 16/

1'
-4

5
11

12

15
.1

9°

314/

12'-4 3
4/

8 1
2/

10@1'-0 3
4/ =10'-7 9

16/

1'-0 11
16/

4 5
16/

1230
.4

4°

7116/

12/112/

1'-1 7
8/

12

30.44°

71
16/

STAIR UP

p75

a7

p33

a7

A A
p8

a14

tr6
11 - tr2

p16

p76

p13

tr2

p51p54
ST4
PL12/ "X16

a12

p30 p13 p53

a15p35

p34p65

p16 p13

p13

p53p76p75

p16

B B

C C

19'-512/

14'-6

14'-42

5'
-2

12/1

2
4'

-1
0

IN
SI

D
E 

ST
R

IN
G

ER
2

D - D

316/
316/

p21

a7 p30

p54

p51

14/ 12
14/ 12

ENDS
TYP

3

2

14/ 2"@12
14/ 2"@12

BETWEEN
TYP

12/112/

1'
-4

11
3 4/

11
4/

B - B

p54

1'
-4

114/

2'-134/

p30

1'-912/

tr7

p13 (B/S)

tr3

D

D

12
@

67
16/

=6
'-5

9 16/

p76

1230
.4

4°

7116/
NO

SI
NG

p76

tr3

tr6

19'-512/

p51

11 - tr2

p21

p54

10'-814/

11

ST4PL12/ "X16

a12 a7

p21

a7 a14

p75

p16

p53

TYP

p52

SIM.

p51

D

D

6'-1134/

112/

1'-71'-71'-612/

1'-711@11=10'-1934/

6'
-1

0
1'

-1
0

8'
-8

2
2'

-0
7 16/

12'-4 3
4/

23
8/

8 1
2/

10@1'-0 3
4/ =10'-7 9

16/

1'-0 11
16/

4 5
16/

3

1'-1 7
8/12

30.44°

71
16/

12

15
.1

9°

314/

5

1

1

DETAIL - A

18/
TREAD PAN TO

STRINGER (TYP)

11
TYP

STAIR
PL12/ "X16

TREAD PAN
PL14/ "X18 38/

1'-0 3
4/TYP

NO
SI

NG

11
TYP

1'-0 3
4/TYP

67
16/

TY
P

67
16/

TY
P

23
8/

C - C

p8

p34

p65

p35

14/
14/
14/
14/

12/

10

112/

2

3
2

1

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

ST4 1

ST4 1 PL1/2"X16" 12'-4 3/4" 332 A36

SQ-1/BEV-1STAIR

a7 2 L2X2X1/4 1'-3" 8 A36

a12 1 L2X2X1/4 1'-2" 4 A36

a14 1 L2X2X1/4 1'-11 3/4" 6 A36

a15 1 L2X2X1/4 1'-8 1/4" 5 A36

p8 1 PL1/2"X5" 0'-11 1/2" 8 A36

p10 1 PL1/2"X16" 2'-0 1/4" 48 A36

p13 4 PL1/2"X28 11/16" 2'-5 5/8" 198 A36

p16 3 PL1/2"X16" 12'-4 3/4" 997 A36

p21 1 PL1/2"X16" 6'-10 1/4" 182 A36

p30 1 PL1/2"X16" 6'-11 3/4" 185 A36

p33 1 PL1/2"X16" 1'-10 3/4" 47 A36

p34 1 PL1/2"X9 1/8" 1'-4" 20 A36

p35 1 PL1 1/2"X10" 1'-2" 60 A36

p51 1 PL1"X1" 6'-6 3/4" 22 A36

p52 2 PL1"X1" 1'-6 3/8" 10 A36

p53 2 PL1"X1" 1'-6 7/8" 11 A36

p54 1 PL1"X1" 6'-9 15/16" 23 A36

p63 1 PL1"X1" 1'-6 3/4" 5 A36

p64 1 PL1"X1" 1'-9 15/16" 6 A36

p65 1 PL1"X1" 0'-11 3/16" 3 A36

p75 2 PL1"X1" 12'-1" 82 A36

p76 2 PL1"X1" 13'-5 3/4" 91 A36

tr2 11 PL1/4"X18 3/8" 4'-10" 829 A36

tr3 1 PL1/4"X17 3/8" 4'-10" 71 A36

tr6 1 PL1/4"X4 1/2" 4'-10" 19 A36

tr7 1 PL1/4"X6 3/16" 4'-10" 26 A36

TOTAL WEIGHT THIS DRAWING 3300

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ONE - STAIR - ST4

Te
kl

a 
st

ru
ct

ur
es

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
ST4

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

STAIR

2.5 MILS DFT



p23

A

AST5
PL12/ "X16 p50

p50

a2a3

TYP

9'-0116/

1316/78/

1'
-4

p50

a3 a2

p23ST5

4

1316/

3'-1078/

78/

1316/

1231°

7316/

24'-7

12/1

p50

A - A

ST5
3

p50

p23

14/ 12
14/ 12

ENDS
(TYP)

14/ 2"@12
14/ 2"@12

BETWEEN 
(TYP)

316/ 2"@12
316/ 2"@12

5

12/112/

2

11
3 4/

11
4/

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/06/2021

08/10/2021
JOB NO:

SHEET NO:
ST5

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

STRINGER

2.5 MILS DFT

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

ST5 1

ST5 1 PL1/2"X16" 9'-0 1/16" 245 A36

SQ-1/BEV-1STRINGER

a2 1 L2X2X1/4 4'-9" 15 A36

a3 1 L2X2X1/4 2'-9 7/8" 9 A36

p23 1 PL1/2"X16" 8'-9 5/8" 239 A36

p50 2 PL1"X1" 8'-11 1/4" 61 A36

TOTAL WEIGHT THIS DRAWING 569

ONE - STRINGER - ST5

Te
kl

a 
st

ru
ct

ur
es



A - A

p78

p28

1316/

p56

7 16/

tr1

a17

p4

TYP

11

NOSING

p57a18

12

30.44°

71
16/

p55

a17

1'-912/

p25

11 - tr2

tr5

p44 (B/S)

p77

a19

ST6
PL1 2/ "X16

C

C

tr5

tr5

C

C

SIM.

12

30.44°

7116/

1'-0
5 16/

2 3
8/

11@1'-0
3 4/ =11'-8

5 16/

1'-0
13 16/

12'-9
5 8/

5

4
12

@
67

16/
=6

'-5
9 16/

47
16/

12

15.19°

314/

11@11=10'-11'-014/

1'-81316/11'-0716/5'-51516/

1'-912/1'-838/11116/

8'
-6

7'
-2

1'
-4

18'-3316/

15'-314/

11 - tr2

p44

p77

p77p57

p38

ST6
PL12/ "X16

2

p4
a19

p28

B B

tr1

4'
-1

0
IN

SI
D

E 
ST

AI
R

a17

p4

a18 a17

p78 p44 p56

p44

p78 p44

a16p11

tr5

p25

p4p67

A A

STAIR UP

18'-3316/

5'
-2

2

1316/

1516/

p38

B - B

2316/

2 3
8/

12'-9
5 8/

1'-0
5 16/

C

C

a16

p66

4

1'-0
13 16/

7 16/

NOSING

p11

p67

a16

tr5

p77

12

30.44°

71
16/

p4 (B/S)

tr1

11'-0716/

11 - tr2

p44 (B/S)

SIM.

p56

p78

tr5

p66

tr5

TYP

p67

DET. A
(TYP)

C

C

12

30.44°

7116/

1316/

11

3

516/

5

12
@

67
16/

=6
'-5

9 16/
47

16/

1'-81316/2'-578/

11@1'-0
3 4/ =11'-8

5 16/

12

15.19°

314/

11@11=10'-11'-014/

15'-318/

78/

8'
-6

7'
-2

1'
-4

14/ 2"@12
14/ 2"@12

BETWEEN 
(TYP)

C - C

12/

316/
316/

14/ 12
14/ 12

ENDS 
(TYP)

a17p28

12/

p25

p57

p55

1

2

3
11

3 4/
11

4/
1'

-4

DETAIL- A

11
TYP

1'-0
3 4/

TYP

2 3
8/

NOSING

18/
TREAD PAN TO 
STRINGER (TYP)

STRINGER
PL12/ "X16

1'-0
3 4/

TYP

TREAD PAN
PL14/ "X18 38/

11
TYP

67
16/

TY
P

67
16/

TY
P

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

ST6 1

ST6 1 PL1/2"X16" 13'-1 15/16" 353 A36

SQ-1/BEV-1STAIR

a16 1 L2X2X1/4 3'-3 3/4" 11 A36

a17 2 L2X2X1/4 1'-4 1/8" 9 A36

a18 1 L2X2X1/4 1'-3" 4 A36

a19 1 L2X2X1/4 1'-0 13/16" 3 A36

p4 3 PL1/2"X16" 13'-1 15/16" 1060 A36

p11 1 PL1/2"X16" 2'-10 1/4" 70 A36

p25 1 PL1/2"X16" 5'-9 3/8" 152 A36

p28 1 PL1/2"X16" 5'-10 5/16" 154 A36

p38 1 PL1/2"X16" 2'-9 5/16" 70 A36

p44 4 PL1/2"X20 13/16" 1'-10" 122 A36

p55 1 PL1"X1" 5'-9 15/16" 20 A36

p56 2 PL1"X1" 1'-1 1/16" 7 A36

p57 1 PL1"X1" 5'-6 3/4" 19 A36

p66 1 PL1"X1" 2'-9 1/4" 9 A36

p67 1 PL1"X1" 2'-6 11/16" 9 A36

p77 2 PL1"X1" 13'-2 1/4" 90 A36

p78 2 PL1"X1" 13'-11 3/4" 95 A36

tr1 1 PL1/4"X22 5/8" 4'-10" 93 A36

tr2 11 PL1/4"X18 3/8" 4'-10" 829 A36

tr5 1 PL1/4"X6 3/4" 4'-10" 28 A36

TOTAL WEIGHT THIS DRAWING 3207

DRAWING STATUS

A ISSUED FOR APPROVAL08/10/2021 DSA

ONE - STAIR - ST6

ALL STEEL TO ASTM A36 U.N.O.

ALL WELD TO BE E70 LH (U.N.O.)

CHECKED BY:

DSA

RAD

08/05/2021

08/10/2021
JOB NO:

SHEET NO:
ST6

13/16" Ø HOLES(U.N.O.)

3/4" BOLTS, ST (U.N.O.)

ENG:

DRAWN BY:

SHOP PAINT:

DESCRIPTION:

CUSTOMER:

STAIR

2.5 MILS DFT

Te
kl

a 
st

ru
ct

ur
es




